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SECTION – I  

1) Which of the following is arranged in descending order? 
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2) Read the statements carefully. Write ‘T’ true and F for false  

 i) In the equation 5(x – 1) = 2(x + 8), transposing x to L.H.S. and 8 to R.H.S. in the 
first step, we get x = 7  

 ii)  In an equation, variables can’t be transposed from one side of the equation to 

the other side 

 iii) Sum of the ages of Arun and his mother is 34 years. If Arun’s present age is x 
years, then his mother’s age before 5 years was (29 – x) years. 

 iv) If 5x – 7 = 15 – 6x, then x = 2     

 i ii iii iv 

A) F T T T 

B) T F T F 

C) F F T T 

D) F T T F 

 

3) A box of 500 LED bulbs contains 10 defective bulbs. One bulb is taken out at 
random from this box. What is the probability that it is non – defective bulb? 

 A) 0.01   B) 0.89   C) 0.98   D) 0.76 

4)  A certain number of women planned to go for a picnic. Each women spent as many 

rupees as one-fourth of the number of women. If the total bill paid was ₹16384, 
then find the amount of each share and how many women went  for picnic? 

 A) ₹ 64, 256  B) ₹ 42, 394   C) ₹ 32, 512   D) ₹ 56, 294  

5) What smallest number should be multiplied by 4320 to make it a perfect cube? 

 A) 50   B) 25    C) 100   D) 125 

6) Vishal offers a discount of 20.5% on each of the item at his shop and still makes a 

profit of 15% on each item. When is the cost price of on article marked at ₹ 500? 

 A) ₹ 440.65  B) ₹ 445, 65   C) ₹ 340, 65   D) ₹ 345, 65 

7) There are )975( 2 ++ mm  tickets available for a show )14113( 2 −− mm  tickets were 

purchased by males, )1525( 2 ++ mm  tickets were unsold and rest of the tickets were 

purchased by females. Find the number of tickets purchased by  females. 

 A) 18162 −+m   B) 8163 2 −− mm   C) 872 +− mm   D) 8183 2 −+ mm  
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8) When 5  10-3 – 2000  10-6 is expressed in standard form, we will get  

 A) 3  10-2  B) 3  10-3   C) 3  103   D) 3  102 

9) Sukul walks to his school at an average speed of 8 m/min. It takes him 16 minutes 
to reach the school. If he wants to reach his school in 8 minutes, then what should 

be his average speed? 

 A) 16 m/min B) 18 m/min  C) 8 m/min   D) 12 m/min 

10) Simplify : (a3x – x4 + a2x2 – ax3)  (a – x) x  

 A) (a + x)2  B) (a – x)2   C) a + x   D) a – x  

11) Find the least value of * for which 4832*18 is divisible by 3 and 11 both. 

 A) 4   B) 7    C) 5    D) 8 

12) Multiplicative inverse of 







−−

5

4

4

3
 is  

 A) 
3

5
   B) 1    C) 

5

3
−    D) -

3

5
 

13) Find ,x when 
4

37
,

3

12 x
b

x
a

−
=

−
= and .3=− ba  

 A) 
16

17
   B) 

17

61−
   C) 

17

61
    D) 

61

17−
 

14) A spinner is spun 100 times and the number 8 appears 16 times. The probability of 
getting the number 8 is 

 A) 4/25  B) 8/16   C) 3/2   D) 8/100  

15) Find the square root of 8 correct upto two decimal places. 

 A) 2.83  B) 2.94   C) 3.64   D) 2.45 

16) Which of the following cube root would end with digit 4? 

 A) 3 262144   B) 3 46656    C) 3 74088    D) 3 2097152  

17) Shivani buys a washing machine with the market price Rs. 20,000. The shopkeeper 
has offered a discount of 10%. If VAT is charged at the rate of 12.5%,then find the 

amount she paid for the washing machine. 

 A) 40,050  B) 25,400   C) 20,900   D) 20,250 

18) Fill in the blanks  

  (1000 + 18) (1000 + 32) = (1000)2 + (18 ___32)  1000 + 18 ______ 32  

 A) +,     B) , +    C) +, +   D) ,    

19) If _______)1(,12966 =+= −aa athen  

 A) 35−    B) 
625

1
   C) 

25

1
    D) 125  

20) 6 identical machines can produce a total of 24000 buttons in 2 hours. At the same 

rate, how many buttons could 10 such machines produce in 4 hours? 

 A) 80000  B) 100000   C) 75000   D) 60000   

21) Factorise: 20)47(9)47( 2 +−+− baba  

 A) )447()547( +−+− babq     B) )623)(47( ++− baba  

 C) )447)(547( ++++ baba     D) )623)(47( −−+ baba  

22) How many of the following number are divisible by 2 and 3 but not by 9? 

 1296, 4056, 3456, 13182, 6084 

 A) 4   B) 5    C) 3    D) 2 
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23) The sum of the additive inverse and multiplicative inverse of 
5

1
 is _____  

 A) 
5

24
   B) 

5

24
−    C) 25     D) 25−  

24) Find the value of .

2

1
2

1
2

2
2

+

+

+  

 A) 
8

23
   B) 

4

19
    C) 

6

17
    D) 

2

13
 

25) Age of a man is four times the age of his son Rohit. After 8 years, he would be two 
and a half times of Rohit’s age. After 16 years from now, how many times would be 

of Rohit’s age? 

 A) 2 times B) times
2

1
2    C) times

4

3
2    D) times3   

SECTION – II  

26) Select the correct option.  

 

 A) Convex polygon – 

 

 B)  Concave polygon -  

 

 C) Simple closed curve - 

 

 D) Polygon -  

 

27) Which of the following steps is incorrect while constructing a quadrilateral MORE in 

which MO = 6 cm, OR = 4.5 cm, M = 600, O = 1050, R = 1100, 

 Step – 1: Draw a line segment OR = 4.5 cm 

 Step – 2: At the point O construct an angle XOR of 1050 with  compass. 

 Step – 3: At the point R construct an angle YRO of 1100. 

 Step – 4: With O as the centre and 8 cm as radius, draw an arc intersecting YR at 

the point M. 

 Step – 5: At the point M construct an angle of 600 and let it intersect RY at the 

point E. 

 MORE is the required quadrilateral. 

 A) Step – 4 only     B) Both Step -3 and Step – 4 

 C) Step – 2 only     D) Both Step – 2 and Step – 3  

28) In the given map, the distance between the places is shown using the scale 1 cm: 

10 km. Find the actual distance (in km) between place A and D. 

    

 A) 60 km  B) 40 km   C) 220 km  D) 100 km  



SHRADDHA GROUP OF INSTITUTIONS 4 

 

29) Find the area of the given figure (not drawn to scale)  

     

 A) 8.02 m2  B) 8020 cm2  C) 80.2 m2  D) 80200 m2 

30) The given line graph shows the number of trucks sold in 6 months. Study the graph 
carefully and answer the following questions.  

 

 Find the total number of trucks sold in August and November 

 A) 800   B) 11000   C) 900   D) 700 

31) How many sides does a regular polygon have, if each of its interior angles is  

 i) 120o   ii) 140o   iii) 135o   iv) 60o  

 i ii iii iv 

A) 10 4 3 7 

B) 8 6 4 5 

C) 6 9 8 3 

D) 9 6 3 8 

 

32) Which of the following quadrilaterals can be constructed, if the length of both 
diagonals are given? 

 A) Parellologram B) Square   C) Trapezium  D) Rhombus  

33) A rectangular piece of paper of length 133 cm and  breadth 88 cm, is rolled along 
its breadth to form a cylinder. Find the volume of the cylinder so formed.  

 A) 81928 cm3  B) 81900 cm3  C) 24560 cm3  D) 74.56 cm3 
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34) The given line graph shows the number of pearls sold by a shopkeeper over 5 days. 
Study the graph carefully and answer the following questions. 

 

 (i) On which day did he sell 
4

1
 of the total number of pearls sold? 

 (ii) If he collected an average of ₹100 each day, then how much did each pearl 
costs?   

 (i) (ii) 

A) Friday ₹1.79 

B) Tuesday ₹1.79 

C) Thursday  ₹ 2.45 

D) Friday  ₹ 2.45 

 

35) How many edges and faces respectively does the given figure have? 

 A) 15,7  

 B) 7,16   

 C) 7,15   

 D) 7,12 

36) Find the area of shaded region, if ABCD is rectangle and EB = DF 

 A) 1920 dm2  

 B) 480 dm2   

 C) 1440 dm2  

 D) 1240 dm2 

37) Given is the road plan of Delhi government to plant trees and some repairs. Actual 
distance between each tree is 4 metre and drawing distance on the map between        

two trees is 2 cm. Find the scale used to draw the map. 

   

 A) 1:200   B) 1:300    C) 2:275   D) 3 : 130 

38) How many curves are simple closed curves? 

   

 A) 4   B) 3    C) 2    D) 5 
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39) Given below are the steps of construction to construct a quadrilateral ABCD where 

AB = 5.6 cm, BC = 4.1 cm, CD =4.4 cm, AD = 3.3 cm and A = 75o. Which of the 
following is the incorrect step? 

 Step- I: Draw AB = 5.6 cm and construct BAX = 75o. 

 Step-II: With A as centre and radius = 3.3 cm, cut of AD along AX. 

 Step-III: Join BD. With D as centre and radius = 4.1 cm, draw an arc.  

 Step-IV: With B as centre and radius = 4.1 cm, draw an arc to cut the arc drawn in 
above step at C. Join BC and CD to obtain the required quadrilateral ABCD 

 A) Step-I  B) Step-II   C) Step-III  D) Step-IV 

40) Select the correct net for a rectangular pyramid. 

 

 A)   B)    C)   D) 

   

SECTION – III (ACHIEVERS) 

41)  Read the statement carefully and select the correct option.  

 Statement – I : The product of a rational number and its reciprocal is alswys 1.  
 Statement – II : When a rational number is divided by a non – zero rational 

number, then the quotient is always an integer.  

 A) Statement –I is true but statement –II is false  
 B) Both statement – I and Statement – II are true.  

 C) Both statement – I and Statement – II are false  
 D) Statement – I is false but statement – II is true.  
42) Fill in the blanks and select the correct option. 

 (i) A number, which when added to four times of itself gives 40 is _______ 

 (ii) ________ is the value of x for which the two expressions 
5

4x
 + 32 and x + 20 are 

equal.  

 i ii 

A) 10 42 

B) 8 60 

C) -8 50 

D) 16 92 

 

43) Match the following columns and select the correct option.    

 Column – I  Column – II  

1 Rectangle  p A quadrilateral having its opposite sides equal 
and parallel. 

2 Square  q A quadrilateral having its opposite sides equal 
and each angle s of 90o 

3 Rhombus r A quadrilateral having all sides equal and each 
angle is of 90o 

4 Trapezium  s A quadrilateral in which a pair of opposite sides 
is parallel. 

  

 1 2 3 4 

A) s q r p 

B) p s q r 

C) r p s q 

D) q r p s 
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44) The given double bar graph shows the number of students appeared in Maths and 
Science test. Study the graph carefully and answer the following questions. 

 
 (i) Find the ratio of total number of students appeared in Maths tests to that of total 

number of students appeared in Science tests, 

 (ii) In how many tests, the number of students appeared in Maths test is more than 
the number of students appeared in Science test?   

 (i) (ii) 

A) 16 : 21 4 

B) 21 : 16 3 

C) 15 : 17 2 

D) 1 : 16 3 

 

45) Read the statements carefully and state T for true and F for false  

 i) A number ending in an odd number of zeroes is never a perfect square. 

 ii) The square of a number either positive or negative is always positive. 

 iii) The square root of 1764 is 44  

 iv) There are 25 natural numbers lie between 122 and 132    

 i ii iii iv 

A) T T F F 

B) F T F T 

C) F F T T 

D) T T T T 

 

46) Solve the following questions:Find the value of 3 3 ba + , if a =3 and b = a3 + 10  

 A) 2   B) 4    C) - 4   D  2 

47) Read the given statement carefully and select the correct option. 

 Statement-I: If Ashok’s marks are 20% less than Vipin’s marks, then Vipin’s marks 

are 25% more than Ashok’s marks. 

 Statement-II: If the marked price of a pant is ₹ 2250 and the shopkeeper allows a 

discount of 12% on it, then the selling price of the pant is ₹ 2000. 

 A) Both Statement –I and Statement –II are true. 

 B) Both Statement-I and Statement –II are false 

 C) Statement – I is true but Statement-II is false. 

 D) Statement – I is false but Statement- II is true. 

48) Solve the following and select the correct option.  If x + 
x

1
 = 2 then x16 + 

16

1

x
 = ?  

 A) 2   B) -2    C) 16   D) -16 
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49) Using Euler’s formula, find the value U – W = Y   

Faces(F) Vertices (V) Edges (E) V + F 

7 10 U 17 

8 V 12 W 

X 8 12 Y  

 A) 14  B) 15     C) 22   D) 29 

 

50)  Solve the following questions: 

 (i) Find the area (in cm2) of the given figure, 

  if PUT and QRS are equilateral triangles, 

  where PT = 16cm and PQ = 24 cm.      

 A) 128 )13( +   B) 128 )33( +   C) 128 )13(3 +  D) 884 )13( +  
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1). Choose the correct alternative that will continue the same pattern and replace the 

question mark in the given series. 

           125,80,45,20,? 

      (A)5  (B)8     (C)10     (D)12 

2). Find the odd one out in the given options 

(A)Doctor: Patients    (B)Shopkeepers: Customers 

(C)Teacher: Students    (D)Painter: Paintbrush 

3).  Based on the given analogies, find the odd one out 

(A)National Anthem: Jana Gana Mana    (B)National Tree: Indian Neem 

(C)National Bird: Peacock         (D)National Animal: Royal Bengal Tiger 

4).  Based on the given analogy, find which of the given options is incorrect. 

ACE:15 

(A)BET: 200  (B)NET: 1400 (C)SKY: 5225  (D)FLY: 1800 

5). In a certain code DECEMBER is written as ERMBCEDE, in that code which word  

A) . AUGUST   B ). OCTOBER     C) . SEPTEMBER  D) . NOVEMBER 

6). In a certain code, ‘253’ means ‘books are old’; ‘546’ means ‘man is old’ and‘378’ 
means ‘buy good books.’ What stands for “are” in that code?  

A) 6    B) 2     C) 4       D) 5  

7). Poin�ng towards a person in a photograph, Anjali said, “He is the 

only son of the father of my sister’s brother.” How is that person 

related to Arjali?  

(A) Mother          (B)Father         (C) Maternal uncle              (D) Cousin 

wi l l be written as ERMBVENO ?
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8). If A + B means A is the sister of B. A-  B means A is the brother 
of B. A x B means A is the daughter of B, which of the following 
shows the relation that E (Male) is the maternal uncle of D? 

(A) D + F x E     (B) D – F x E         (C ) D x F + E         (D)D x F – E     

9). Starting from the point X, Jayant walked 15 m towards west. He turned left and 

walked 20 m. He then turned left and walked 15 m. After this he turned to his right 
and walked 12 m. How far and in which directions is now Jayant from X? 

A) 32 m, South 

B) 47 m, East 

C) 42 m, North 

D) 27 m, South 

10). The length and breadth of a room are 8 m and 6 m respectively. A 

cat runs along all the four walls and finally along a diagonal order to 
catch a rat. How much total distance is covered by the cat? 

(A)10  (B)14  (C)38  (D)48 
11). The following diagram shows the number of people who are students, 

engineers, entrepreneur and employed. If the total number of people is 500, then 

what is the number of students who are Entrepreneur and Engineers but not 

employed? 

 
(A) 3  (B) 10  (C) 25  (D) 11 
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12). From the figure given below, determine the number of students who did not 

study any of the two subjects. 

 
A) 135  B) 264  C) 295  D) 130 

 
 

13) Choose the correct alternative that will continue the same pattern and replace the 

question mark in the given series. 

         6, 13, 25, 51, 101,? 
(A)201 (B)202  (C)203  (D)205 

14).  If “@” denotes “added to”, “#” denotes “multiplied by”, “®” denotes 
“divided by” and “%” denotes “subtracted from”, then which of the 
following equation is true? 

(A) 8 @ 8 ® 8 # 8 % 8 = 9  (B)42 % 26 ® 13 # 2 @ 8 = 46 

 (C)19 % 84 ® 4 @ 3 # 4 = 12  (D)31 % 4 ® 2 # 19 @ 3 = 4 

15). If Q means ‘add to’, J means ‘multiply by’, T means ‘subtract from’ and K means 
‘divide by’, then 26 K 2 Q 3 J 6 T 4 = ?   

(A) 10  (B) 28 

(C) 30  (D) 27 

16).  If the symbols followed by consonants interchange their positions within 
the group, then which element is third from the right end?  

B
 
@

 
C

 
7
 
N

 
R

 
%

 
5
 
$
 
G

 
6
 
K

 
M

 
&

 
4
 
S

 
#
 
P

 
U

 
5
  

(A)U   (B)#   (C)P   (D) 5  



Space for rough work.

CLASS

8

 

                                               

 

17).  Given below are some group of letters. Which of the options can be joined at 

the end of these letters to make them meaningful words? 

LEN, SAN, WOR, SEE 

(A) A             (B) D  (C)B               (D) K 

18). In a row of students, Ravi is 10th to left of Ramesh, who is 30th from the left 

end. If Ramesh is exactly in the middle of Ravi and Sandeep, then find minimum 

numbers of students possible in that row? 

  A) 39  B) 38  C) 40  D) 41 

19). Arrange the words given below as per order in the dictionary. 

           A. Deride, B. Delineate, C. Delude, D. Desiccate, E. Deluge 

(A)D, A, E, C, B   (B)A, C, E, B, D 
(C)B, C, E, A, D   (D)B, C, E, D, A 

20).  Select  the  odd  one  out.  
(A)343

 

(B)125

 

(C)100

 

(D)216

 21).  In the following question, the first and second figure of the problem figures 
have certain relation between them and the same relation exists between the 
third figure and one of the four answer figures (A), (B), (C) and (D). Find that 
answer figure from the options that will replace '?' from problem figures. 

Problem figure:

Answer figures:

A) B) C) D)

?
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22). Find out missing figure (?) of the problem from the given answer 
figures. 

 
23). Choose the alternative which is closely resembles the mirror image of the given 
combination. 

 
24). Choose the alternative which is closely resembles the water-image of the given 
combination. 

 
25). Select a suitable figure from the four alternatives that would complete the figure 
matrix.  

?

1

2

1

2

1

2

2 2 2

1

2

1

2

1

2

1

2

1

2

1

2

A) B) C) D)

(A)

(C)

(B)

(D)

(A)

(C)

(B)

(D)
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26). Find out the alternative figure which contains figure (X) as its part. 

 
     (X)                (A)         (B)         (C)        (D) 

27).  In the following question, find the figure given in the answer choices, that can 
form the question figure. 

 
 

28). Find out which of the option figure can be formed from the pieces given in figure 
(X). 

 

29). Select the alternative in which the specified components of the key figure (X) are 
found. 

 

30). Select the figure which satisfies the same conditions of placement of the dots as 
in Figure-X. 

 

 

 

Question figure. Answer figures.

(A) (B) (C) (D)

 

 

(A)   (B)  (C)  (D)  (X) 

 
(A) (B) (C) (D)

 

 
(A) (B) (C) (D)
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31). Select a figure from the options which does not satisfy the 
same condition of placement of dots as in Fig.(X). 

  

A)    B)  C)   D)           

32). Find the number of triangles in the given figure. 

 

(A)8  (B)10  (C)12  (D)14 

33). Count the number of cubes in the given figure. 

 

(A)37  (B)33  (C)36  (D)35 

34). How many points will be on the face opposite to in face which contains 2 points? 

 

(A)1 (B)5 (C)4 (D)6

Fig. X
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35). Choose a figure which would most closely resemble the unfolded form of Figure 
(Z). 

 

(A)1
  

(B)2
  

(C)3
  

(D)4
 

36). Choose a figure which would most closely resemble the unfolded form of Figure 
(Z).

 

 

(A)1

  

(B)2

  

(C)3

  

(D)4

 

37). Select a suitable figure from the four alternatives that would complete the figure 
matrix. 

 
(A)1  (B)2  (C)3  (D)4 
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38). Choose the correct water image of the given figure (X) from amongst the four 
alternatives. 

 
(A)1  (B)2  (C)3  (D)4 

39). Group the given figures into three classes using each figure only once. 

  

(A)1,3,9 ; 2,5,6 ; 4,7,8  (B)1,3,9 ; 2,7,8 ; 4,5,6 

(C)1,2,4 ; 3,5,7 ; 6,8,9  (D)1,3,6 ; 2,4,8 ; 5,7,9 

40). Find out missing figure (?) of the problem from the given answer figures. 
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41). In the given question, two rows of numbers are given. The resultant number in each 
row is to be worked out separately based on the following rules and the question below the 
rows of numbers is to be answered. The operations on numbers progress from left to right. 
Rules: 
(i) If an odd number is followed by another odd number which is a perfect square, then they 
are to be added. 
(ii) If an even number is followed by an odd number or an odd number is followed by an 
even number, then they are to be multiplied. 
(iii) If an even number is followed by another even number, then the first number is to be 
divided by the second number. 
(iv) If an even number which is a multiple of 5 is followed by an odd number is to be 
subtracted from the first number. 
     248    8    25 
                                                   3      X    28 
If X is the resultant of the first row, then what is the resultant of second row? 
(A) 12  (B)6  (C)18  (D)16 

 
42). Conditions: 

1. I is brother of J         2. K is father of I 

3. L is brother of M  4. M is daughter of J, then 

 Who is I to L? 

A) Grand father B) Uncle 

C) Son D) Brother 

43). In each of the following questions, relationship between different element is 

shown in the statements. These statements are followed by two conclusions. 

 Statements   P ≥ Q = R, Q > S > T   Conclusions:  I. P ≥ T    II. T < Q 

(A) If only conclusion I follows 

(B) If only conclusion II follows 

(C) If either conclusion I or II follows 

(D) If neither conclusion I nor II follows 
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44). Find the missing number.  

 

(A).22  (B).18  (C).16  (D).26 

45). Each of the following questions is based on the following information: 

1. A # B means B is at 1 metre to the right of A. 
2. A $ B means B is at 1 metre to the North of A. 
3. A * B means B is at 1 metre to the left of A.  
4. A @ B means B is at 1 metre to the south of A. 
5. In each question first person from the left is facing North. 
According to P # R $ A * U, in which direction is U with respect to P? 

     (A)East  (B)West 

     (C)North  (D)South 

46). The figure given on the left hand side in each of the following 

questions is folded to form a box. Choose from the alternatives (1), (2), 
(3) and (4) the boxes that is similar to the box formed 

 

(A)2 and 3 only  (B)1, 3 and 4 only 

(C)2 and 4 only  (D)1 and 4 only 
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47). Choose the correct option. 

 
(A) 1 is mirror image and 3 is water image. 

(B) 3 and 4 are water image. 

(C) 1 is mirror image and 4 is water image. 

(D) 1 is not mirror image but  4 is water image. 

48). Count the number of triangles and squares in the following figure 

 

(A) 32 triangles and 10 squares.  (B) 28 triangles and 8 squares. 

(C) 30 triangles and 10 squares.  (D) 38 triangles and 0 squares. 
49). Find out how will the key figure (X) look like after rotation. 

 

 

50). A cube is painted red along all its faces and then divided into 27 

smaller identical pieces. How many of the resultant pieces will have two or 
more than two face painted face painted? 

(A)24  (B)20  (C)8  (D)12 

(A)   (B)  (C)  (D)  (X) 
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You  will get additional 10 minutes to fill up information about yourself on the OMR sheet before the start of 

the exam.

Write your Name, Class & Roll Number clearly on the OMR sheet and do not forget to sign it. We will 

share your marks / result  and other information related to SOQ exams on your mobile number.

The question paper comprises three sections:

Section - 1 : Grammar & Vocabulary (20 Q.)  Section - 2  : Comprehension (20 Q.)  Section 3 : Achiever’s 

Section (10 Q.) 

All questions are compulsory. There is no negative marking. Use of calculator is not permitted. 

There is only ONE correct answer.  Choose only one option for an answer.

To mark your choice of answer by darkening the circle on the OMR sheet, use black ball point pen only. 

E.g.

Q.16. In the water cycle condensation is the process of 

A.  Water vapour cooling down and turning into liquid    B. Ice warming up and turning into a liquid 

C.  Liquid cooling down and turning into ice                   D. Liquid warming up and turning into water vapour

As the correct answer is option A, you must darken the circle corresponding to option A on the OMR sheet 

as shown in the figure

Rough work should be done in the blank space provided in the booklet

Return the OMR sheet to the invigilator at the end of the exam.
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